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Sub-Section Id : 89951451
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8995143150 Question Type : MCQ Option Shuffling : No Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is triple “F” crisis?

a. Food, Finance and Fuel
b. Food, Fiscal policy and Finance
c. Fair trade, Food and Finance

d. Finance, Fuel, Fair trade

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

9/16/2020

The Global Food Security Index (GFSI) considers which of the following core issut
a. Affordability
b. Availability
c. Utilisation

d. All of the above

Private investment is the key driver that does not include which one of the followin
a. Increase in labour productivity
b. Introduction of new technology
c. Reduction in demand

d. Generation of jobs
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89951412564. 2
89951412565. 3
89951412566. 4

Question Number : 4 Question Id : 8995143153 Question Type : MCQ Option Shuffling : No Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which country has the highest food availability based on GFSI 2018?

a. India
b. Nepal
C. SriLanka

d. Bangladesh
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Which of the following is a valid rationale for government intervention?
a. Externalities
b. Large economies of scale
c. Provision of merit goods

d. All of the above

What are the basic objective of economic policy making?
a. High growth
b. Inclusive growth

c. Sustainable growth

d. All of the above
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89951412575. 1
89951412576. 2
89951412577. 3
89951412578. 4

Question Number : 7 Question Id : 8995143156 Question Type : MCQ Option Shuffling : No Display Quest
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fourth Industrial Revolution does not include which one of the following?
a. Artificial Intelligence
b. Big Data Analytics
c. Internet of Things

d. Hydropower
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What is the objective of public owned firms?
a. Profit Maximization
b. Social Welfare
c. Sales Revenue Maximization

d. None of the above

What were the reasons for high food prices in Indian economy during 2007-08 anc
11?7

a. Low olil prices
b. Increased bio-fuel use
c. Low stock-to-use-ratios (SURS)

d. Unfavourable weather conditions
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89951412587. 1
89951412588. 2
89951412589. 3
89951412590. 4

Question Number : 10 Question Id : 8995143159 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Common Service Centers (CSCs) are access points operated and managed by Vill

Level

a. Entertainers
b. Executives
c. Entrepreneurs

d. Enterprises
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Digital Programs, Digital India and Bharat-Net, all are with the objectives to try an

create an society.

a. Independent
b. Incredible
c. Inclusive

d. Inquisitive

‘What is CDS?

a. Credit Default Swaps

b. Credit Derivative solution

c. Collateralised Derivative solution

d. Credit Development Swaps
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89951412599. 1
89951412600. 2
89951412601. 3
89951412602. 4

Question Number : 13 Question Id : 8995143162 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Feature/s of Shadow Banking activities are

a. Absence of ‘lender of the last resort’ facilities by the central bank.
b. No deposit guarantee
c. Non bank credit intermediation

d. All of the above
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Reason for worsening income and wealth inequality in USA over past century
a. Falling worker union membership
b. Financial deregulation

c. Faster growth of productivity compared to wages

d. All of the above

How can financial crisis be prevented in the future
a. Strong regulation of financial industry

b. Decreasing income and wealth inequality

c. Finding stable stimulus to economic growth

d. All of the above
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89951412612.2
89951412613.3
89951412614. 4

Question Number : 16 Question Id : 8995143165 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Conversation is a visual map of the social media landscape
a. Square
b. Circle

c. Cube

d. Prism
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changed social networking
a. People
b. Social Media
c. Facebook

d. Internet

What are some of the components of a green economy?
a. Sustainable transport
b. Renewable energy
c. Waste management

d. All of the above
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89951412625. 3
89951412626. 4

Question Number : 19 Question Id : 8995143168 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The sector in which a major percentage of working population of India is engaged

a. Tertiary
b. Secondary
c. Agriculture

d. Public sector
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The institution which regulates agricultural credit is:
a. State Bank of India
b. Reserve Bank of India
c. Regional Rural Bank

d. NABARD

Under the green economy principles, the polluters are
a. Liable to pay penalty
b. Not liable to pay penalty
c. Authorized to enjoy subsidies on pollution

d. Not responsible for environment
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89951412636. 2
89951412637. 3
89951412638. 4

Question Number : 22 Question Id : 8995143171 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
There are ..... UN Sustainable Development Goals( SGDs)

a. 10
b. 17
c. 20

. 25
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What is the benefit of adopting a green economy?
a. Low employment generation
b. Unsustainable agricultural practices
c. Increment in poverty

d. Sustainable consumption and production

Traditionally, India has always been
a. Industrial economy
b. Agricultural based economy

c. Service sector economy

d. All of the above
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89951412647. 1
89951412648. 2
89951412649. 3
89951412650. 4

Question Number : 25 Question Id : 8995143174 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following are important macroeconomics management concerns
a. GDP & Inflation
b. Fiscal balance
c. External sector balance

d. All of the above
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NAIRU is
a. Non accelerating inflation rate of unemployment
b. Non ascending rate of unemployment
c. Non applicable rate of understanding

d. New accelerating region in Uttar Pradesh

India’s organised sector unemployment is
a. Less than 10%
b. Less than 20%
c Less than 30%

d. Less than 40%
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89951412659. 1
89951412660. 2
89951412661. 3
89951412662. 4

Question Number : 28 Question Id : 8995143177 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
An information system that can guide the farmers can be done by

a. Promoting cooperative behaviour
b. Increasing competitive behaviour
c. Bothaandb

d. None of the above
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United Nations Sustainable Development Goal(SDG) on Quality Education is

a. SDG 4
b. SDG 8
c. SDG 10

d. SDG 17

As per the 2018 World Cooperative Monitor, the total turnover of the top 300

cooperatives in the world 1s
a. $50 million
b. $100 million
c. $2.01 trillion

d. $500 million
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89951412671. 1
89951412672. 2
89951412673. 3
89951412674. 4

Question Number : 31 Question Id : 8995143180 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which year has been declared as the “International Year of Cooperatives’ by the T

Nations
a. 2000
b. 1990
c. 2012

d. 2015
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The birthplace of Cooperative in the world is
a. Cooperators Group
b. Rochdale Pioneers
c. Desjardins

d. Raiffeisen

AMUL is
a. Asha Milk Union Ltd
b. Amar Milk Union Ltd
c. Anand Milk Union Ltd

d. Ajar Milk Union Ltd
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89951412684. 2
89951412685. 3
89951412686. 4

Question Number : 34 Question Id : 8995143183 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Cooperative Societies Act of India was passed in the year
a. 1947
b. 1904
c. 1895

d. 1963
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According to International Cooperative Alliance, what is the number of total mem

cooperatives worldwide
a. 1 billion
b. 500 million
c. 250 million

d. 100 million

What are the primary causes of conflict?
a. Greed

b. Grievance

c. Both of the above

d. None of the above
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89951412695. 1
89951412696. 2
89951412697. 3
89951412698. 4

Question Number : 37 Question Id : 8995143186 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The objective of UN Sustainable Development Goal (SDG 5) is

a. To promote gender equality
b. To reduce poverty
c. To enccurage climate action

d. To ensure zero hunger
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UN MDG stands for

a. Multidimensional Goals

b. Multipurpose Dynamic Goals

c. Millenium Development Growth

d. Millenium Development Goals

The UN SDG’s have  targets
a. 100
b. 169
c. 200

d. 269
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89951412708. 2
89951412709. 3
89951412710. 4

Question Number : 40 Question Id : 8995143189 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The most fundamental edifice of development rests on
a. Prosperity
b. Peace
c. Promotion

d. Partnership
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Which one is a non renewable resource?
a. Fertile soil
b. Plants and animals
c. Fossil fuel

d. Direct solar energy

India receives nearly % of global precipitation
a. 3%
b. 4%
c. 7%

d. 5%
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89951412720. 2
89951412721.3
89951412722. 4

Question Number : 43 Question Id : 8995143192 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the challenges faced by India with respect to its water resources
a. Over exploitation
b. Quality
c. Pollution

d. All of the above
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Which of the following is/are abiotic resources
a. Coal and petroleum
b. Forests
c. Land, air and water

d. Animals

India is currently the  largest economy in the world
a. Fourth
b. Third
c. Fifth

d. Sixth
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89951412732. 2
89951412733. 3
89951412734. 4

Question Number : 46 Question Id : 8995143195 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Type-I Error occurs if

a. the null hypothesis is rejected even though it is true
b. the null hypothesis is accepted even though it is false
c. both the null hypothesis as well as alternative hypothesis are rejected

d. None of the above
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Elinor Ostrom, the Nobel Laureate proposed ....... ways to solve ‘Tragedy of the

Commons’
2. 5

b. 6

What conditions best describe US economic crisis during the Great Depression, 19:
a. Low GDP growth rate and high unemployment rate
b. High unemployment rate and high aggregate demand
c. High unemployment rate and high deflation

d. High unemployment rate and high GDP growth rate
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89951412743. 1
89951412744.2
89951412745. 3
89951412746. 4

Question Number : 49 Question Id : 8995143198 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Paradox of thrift based on fallacy of composition implies which of the following:
a. More individual savings lead to more national income
b. More individual savings lead to less national income
c. Less individual savings lead to less national income

d. Less individual savings lead to less overall investments
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Philips curve depicts a tradeoft between:
a. Unemployment and output in an economy
b. Unemployment and inflation in an economy
c. Aggregate demand and inflation in an economy

d. Aggregate demand and output in an economy

Okun’s law depicts the relationship between:
a. Unemployment and output in an economy
b. Unemployment and inflation in an economy
c. Aggregate demand and inflation in an economy

d. Aggregate demand and output in an economy
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89951412756. 2
89951412757. 3
89951412758. 4

Question Number : 52 Question Id : 8995143201 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following annual estimates of National Income Accounts are based

actual accounts and not on growth of indicators:
a. Advanced estimates
b. Provisional estimates
c. Revised estimates

d. None of the above
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Which of the following is not a parameter for computation of Government consuir
a. Government final consumption expenditure from national income accounts
b. Revenue expenditure of the central government
c. Capital expenditure of the central government

d. Revenue expenditure of the state government

Which of the following surveys is based on capacity utilisation of manufacturing
a. RBI *OBICUS’ survey
b. Industrial Outlook survey
c. Economic Survey

d. Index of Industrial Production
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89951412768. 2
89951412769. 3
89951412770. 4

Question Number : 55 Question Id : 8995143204 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is the correct method to compute the GDP deflator

a. Nominal GDP / Real GDP
b. Real GDP / Nominal GDP
c¢. Nominal GDP / Price level

d. Real GDP / Price level
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Which of the following is not an indicator of inflation of an economy?
a. CPI inflation
b. WPI inflation
c. IIP

d. GDP deflator

Which of the following is correct:
a. Investment expenditure = Fixed investment + valuables + change in stock
b. Investment expenditure = Fixed investment + variable investment
c. Investment expenditure = Fixed investment + change in stock

d. Investment expenditure = Fixed investment + valuables
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89951412779. 1
89951412780. 2
89951412781. 3
89951412782. 4

Question Number : 58 Question Id : 8995143207 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Government of India’s 2019-20 budget was presented by:
a. Rao Inderjit Singh
b. Amit Shah
c. Rajnath Singh

d. Nirmala Sitharaman
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The net tax revenue as a percentage of GDP for the Government of India 2018-1¢

out to:
a. 6.99%
b. 6.91%
c. 7.68%

d. 7.27%

The Government of India’s Budget 2019-20 was presented on
a. July 5

b. July 7

.
b
o
i
[=
G
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Options :

89951412791. 1
89951412792. 2
89951412793.3
89951412794. 4

Question Number : 61 Question Id : 8995143210 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are indicator of physical infrastructure
a. Total road length per square kilometer
b. Per capital consumption of electricity
c. Bothaandb

d. None of the above
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Pradhan Mantri Kisan Samman Nidhi (PM-KISAN) was effective from:
a. 1st November, 2018
b. 1st December, 2018
c. lst January, 2019

d. 1st February, 2019

What are the objectives of monetary policy in India?
a. Price Stability
B. Growth
c. Inflation target setting

d. All of the above
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89951412803. 1
89951412804. 2
89951412805. 3
89951412806. 4

Question Number : 64 Question Id : 8995143213 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Goods and Services Tax (GST) was implemented in India in the year:

a. 2016

b. 2017
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Which amongst the following is not one of the three divisions of GST:

a. CGST
b. SGST
c. GSTIN
d. IGST

Which of the following is a neoclassical growth model
a. Solow

b. Romer

c. Harrod-Domer

d. Bothaandb
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89951412816. 2
89951412817.3
89951412818. 4

Question Number : 67 Question Id : 8995143216 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the full form of RIS
a. Regional Innovation System
b. Regional International System

c. Robust International System

d. None of the above
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Which of the following is an example of industrial cluster

a. Silicon Valley
b. South California electronic industry
c. Bothaandb

d. None of the above

Which organization provides patent data for India
a. Indian Patent Office

b. Patent and Research office

c. Finance Ministry

d. Reserve bank of India
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89951412829. 3
89951412830. 4

Question Number : 70 Question Id : 8995143219 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is orthorhombic distance used for

a. To calculate the shortest distance between two points on a sphere
b. To calculate the shortest distance between two points on a plane
c. To calculate shortest distance between two points on a cube

d. None of the above

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

9/16/2020

What is true about patent applications in India
a. Its equally distributed across India

b. It’s skewed across India

c. Bothaandb

d. None of the above

What is the full form of IRR
a. Incident rate ratio

b. Incident ratio rate

c. Important rate ratio

d. Initial rate ratio
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89951412841. 3
89951412842. 4

Question Number : 73 Question Id : 8995143222 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following captures agglomeration
a. Localisation

b. Herfindahl

c. Bothaandb

d. None of the above
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What are count data regression models
a. Poisson model

b. Negative Binomial

c. Zero inflated negative binomial

d. All of the above

What increases innovative capacity of a region
a. Agglomeration

b. R&D

c. Institutions

d. All of the above
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Question Number : 76 Question Id : 8995143225 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Mahalanobis model ignores

a. Consumption goods
b. Capital goods
c. Bothaandb

d. None of the above
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Which are closed economy industry-agriculture models
a. Lewis

b. Kalecki

c. Kaldor

d. All of the above

According to Lewis model, the input for industry is/are
a. Capital

b. Labour

c. Bothaandb

d. None of the above
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According to Lewis model the input for agriculture is/are
a. Land

b. Labour

c. Bothaandb

d. None of the above
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Monetary Policy in India is decided by

a.

b.

Reserve Bank of India
Ministry of Finance
Ministry of Corporate Affairs

None of the above
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What is India’s NDC under Paris Agreement

a. Reduce emission intensity by 33 to 35% by 2030 from the 2005 level

b. Achieve about 60% cumulative electric power installation from non fossil

energy resources by 2030

c. Creation of carbon sink of 2 billion tonnes of CO; through additional forest

cover by 2030

d. Reduce emission intensity by 10 to 15% by 2020 from the 2005 level
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What is trade feedback effect

a. When two sectors grow together

b. When two sector solve each other’s potential realization problem
c. Both of above

d. None of the above

What is an example of Cooperatives

A. Amul
B. Nestle
C. Airtel
D. None of the above
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How many sections does Harmonized Commodity Description and Coding Syst:
a. 21
b. 22
c. 30

d 35
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The fact that coefficient of variation in the Agriculture and allied sector
has declined from 2.7 in the period of 1961-1988 to 1.6 during 1989-2004
and further to 0.8 during 2005 to 2018 indicates:

a. Compositional shift in the sector.

b. Greater diversification of the sector

c. Higher growth rates in allied sectors

d. All of the above.
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Cobweb phenomenon in agriculture refers to:
a. Sowing decisions for the ensuing season taken by the farmer based on
expected future prices of agricultural produce.
b. Sowing decisions for the ensuing season taken by the farmer based
current prices of agricultural produce.
c. Sowing decisions for the ensuing season taken by the farmer based on
past practices
d. Sowing decisions for the ensuing season taken by the farmer based on

advisories given by the Government.
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The main difference between the two measures of costs, namely cost of

cultivation and cost of production is:

a. The system of farming --whether mechanised or traditional

b. Cost of cultivation is A2 cost whereas cost of production is C2 cost

c. Yield of the crop

d. Cost of irrigation is excluded in cost of production

What is the ratio of value added to value of output in agriculture?

da.

b.

b

77 per cent
23 per cent

10 per cent
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Question Number : 89 Question Id : 8995143238 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the cost of cultivation is the same in two states (A and B), and yield of

state A is higher than the yield of state B, the cost of production in state A

will be
a. Higher than B
b. Lower than B

c. Same as B

d. None of the above- insufficient information for any such inference.
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What was the intention behind UDAY?

a. To improve operational and financial efficiency of the state power distributic

companies
b. To open a bank account for all farmers
c. For generation of more renewable energy

d. None of the above

Who won the Nobel Prize in Economics in 2019.
a. John Harsanyi, John Nash , Reinhard Selten
b. Joseph Stiglitz, George Akerlof, Michael Spence

c. Peter Diaomond, Christopher A Pissarides,Dale T.Mortenson,
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Which is the most important principle of Kyoto Protocol?

a. Common responsibilities for all nations
b. Common but differentiated responsibilities for a nation
c. Emission increases with the economic development

d. Differentiated responsibilities for different nations
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Richard Thaler was conferred the Nobel Prize in Economic Sciences for contribut
to the field of:

a. Behavioural Economics

b. Contract Theory

c. Poverty

d. Economic Governance

Which of the following is not to way to tackle stress
a. Fight with the situation
b. Procrastinate or smoke

c. Take stock of the situation
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One cannot lower stress by

a. Yoga and meditation
b. Relaxation
c. Using sleeping pills

d. Imagery practices
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The most often read part of a research paper is which one of the following

a. Abstract
b. Title
c. References

d. Conclusion
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The miniature version of the entire paper that helps readers to quickly get the gis
entire work is known as?

a. Title

b. Methodology

c. Discussion

d. Abstract
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The introductory section of a research report should aim to:
a. Identify the specific focus of the study
b. Provide a rationale for the dissertation, or article
c. Grab the reader’s attention

d. All of the above

A Book review’s length varies from
a. 100-500 words
b. 600-2000 words
c. 2000-3000 words

d. 3000-5000 words
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The main purpose of research in education is to
a. Help in the personal growth of an individual
b. Help the candidate become an eminent educationist
c. Increase job prospects of an individual

d. Increase social status of an individual
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